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4 F99 C, DESR E

[Option ID = 604]
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[Question ID = 152][Question Description = 152_19_Bengali_SEPT22_Q52]
1. (99 A, B USSR E

[Option ID = 605]
2. (F9¥ B, C 492 D

[Option ID = 606]
3. (FEE A, C GRD

[Option ID = 607]
4 (9, D ERE

[Option ID = 608]
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[Question ID = 153][Question Description = 153_19_Bengali_SEPT22_Q53]
1. (F99 A, B 992 D

[Option ID = 609]
2. (795 B, D A9t E

[Option ID = 610]
3. (FEE A, C 92D

[Option ID = 611]
4. (F9E B, C 92 E

[Option ID = 612]
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[Question ID = 154][Question Description = 154_19_Bengali_SEPT22_Q54]
1. 99 A, B 992 D

[Option ID = 613]
2. (9T B, C 2 D

[Option ID = 614]
3 P A, C G E

[Option ID = 615]
4. (FFE B, D 93 E

[Option ID = 616]
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[Question ID = 155][Question Description = 155_19_Bengali_SEPT22_Q55]
1. (F9 A, B YRR C

[Option ID = 617]
2. (F9F A, C9=E D

[Option ID = 618]
3. (991 A, DESRE
[Option ID = 619]
4. ($98 B, CEU9LE

[Option ID = 620]
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[Question ID = 156][Question Description = 156_19_Bengali_SEPT22_Q56]

B, C@RE
[Option ID = 621]
2. _.FJL‘ C 9<% E

[Option ID = 622]
3. ALB 992 F

[Option ID = 623]
4 B, C 93D

[Option ID = 624]
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[Question ID = 157][Question Description = 157_19_Bengali_SEPT22_Q57]
. A B&EIC

[Option ID = 625]
2. B, CE9= E

[Option ID = 626]
3. B, DEAS E

[Option ID = 627]
4 A BERD
[Option ID = 628]
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D. G- Tarie 2 4t BuF (oits *g s 90 e
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#HWE FACOT (WLLS HAF0 Na@T wH, (A0 27;
[Question ID = 158][Question Description = 158_19_Bengali_SEPT22_Q58]
T A BESEC

[Option ID = 629]
2. B,CE9: D

[Option ID = 630]
3. C,DESE

[Option ID = 631]
4. D, AYSEB

[Option ID = 632]



39) Fis ~omfon wEe FHED] HF SA FA TEFD - wER TG (TEH .

A, TAEATAT Flow GEUTHA (7, TS S G=a07@ FaE T09] T ©F QaaFEEE 20 =E
Toa AWAE FEAN HAE s seMely 4FdlN aresngd g9 Wanm) «@F

B. 'AE@ANLF AT WG 4N UE — O 4ifed oL, | 92 TEI TAd 994 |

C. ARG @WIoT S9 wes 29, @Mhee ATl A e g9 29 A 1 @2 WEan

D. "AHEGATAT g AW WA 24 G THEA TGS OTA — OIS (A LAAEe heEm
%' 92 TG0 N (BIgEE |

WG AP (- AFHLIS AIF6 TS &F, (AL =

[Question ID = 159][Question Description = 159_19_Bengali_SEPT22_Q59]

. A BEI:C
[Option ID = 633]
2. B, CYEED
[Option ID = 634]
3. C,DEO2 A
[Option ID = 635]
4 D,AERB

[Option ID = 636]
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[Question ID = 160][Question Description = 160_19_Bengali_SEPT22_Q60]
1. (99 A, B 492 E

[Option ID = 637]
2. (@99 A, CERE D

[Option ID = 638]
3. (9 B, D UL E

[Option ID = 639]
4. (FIE B, C 932 D

[Option ID = 640]
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[Question ID = 161][Question Description = 161_19_Bengali_SEPT22_Q61]
1. (F99 A, C €92 D

[Option ID = 641]

2. @9\ A, B €9F C
[Option ID = 642]

3. (#9E B, C 9L E

[Option ID = 643]
4. (F99 A, D @92 E

[Option ID = 644]
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[Question ID = 162][Question Description = 162_19_Bengali_SEPT22_Q62]
1. A, B @9 C

[Option ID = 645]
2. B, CEURD

[Option ID = 646]
3. C,DE9E

[Option ID = 647]
4. E, Ad9B

[Option ID = 648]
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[Question ID = 163][Question Description = 163_19_Bengali_SEPT22_Q63]
. AgsR D @5

[Option ID = 649]
2. A W€ C ER

[Option ID = 650]
3. B9 D e

[Option ID = 651]
4. B 99 C %

[Option ID = 652]
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[Question ID = 164][Question Description = 164_19_Bengali_SEPT22_Q64]

1. (98 A, B 992 E

[Option ID = 653]
2. (F99 B, C 992 D

[Option ID = 654]
3. (P99 A, B 99E D

[Option ID = 655]
4 (99 A, C S92 D

[Option ID = 656]
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[Question ID = 165][Question Description = 165_19_Bengali_SEPT22_Q65]
1. A 93 B w5

[Option ID = 657]
2. R @32 C wH

[Option ID = 658]
3. BEUSiD ¥R

[Option ID = 659]
4. AQRC BF

[Option ID = 660]
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[Question ID = 166][Question Description = 166_19_Bengali_SEPT22_Q66]
1. A-iy, B-ii, C-i, D-iii

[Option ID = 661]
2. A-jy, B-iii C-i. D-i

[Option ID = 662]
3. A-iiB-iii, C-1, D-iv

[Option ID = 663]
4 A-jw B:i C-iL D-iii

[Option ID = 664]
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[Question ID = 167][Question Description = 167_19_Bengali_SEPT22_Q67]
T A B € iy D= BV

[Option ID = 665]
2. A-v,B-1,C-1iv, D-1ii, E-ii

[Option ID = 666]
3. A-iw,B-iii,C-v, D-ii,E-|

[Option ID = 667]
4 A-ji,B-iv,C-v, D-iE-iii

[Option ID = 668]
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[Question ID = 168][Question Description = 168_19_Bengali_SEPT22_Q68]
T A-iii,B-ii,C-i, D-v,E-iv

[Option ID = 669]
2. A-iii,B-i,C-ii, D-v,E~-iv



[Option ID = 670]
3. A-iv,B-ii,E-i, D-¥:E-iii

[Option ID = 671]
4 A-ijv,B-ii,C-i, D-iii,E-¥

[Option ID = 672]
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[Question ID = 169][Question Description = 169_19_Bengali_SEPT22_Q69]
. A-iji,B-iii,C-v, D-i,E-iv

[Option ID = 673]
2. A-i,B-iv,C-v, D-iii, E=i

[Option ID = 674]
3 A-ji,B-v,C-1, D-ii, E-iv

[Option ID = 675]
4 A-iii,B-ii,C-iv, D=V, E~i

[Option ID = 676]
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[Question ID = 170][Question Description = 170_19_Bengali_SEPT22_Q70]
. A-jii,B-v,C-i,D-i,E-iv

[Option ID = 677]
2. A-ii,B-ili,C-v,D-i,E-iv

[Option ID = 678]
3. A-iv,B-i,C-ii, D-v, E~iii

[Option ID = 679]
4. A.-V,B"i'l"rc"iit D_”ir E=1

[Option ID = 680]
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[Question ID = 171][Question Description = 171_19_Bengali_SEPT22_Q71]
. A-v,B-1,C-iv, D-iii, E-ii
[Option ID = 681]

2. A-yv,B-iii,C-iv, D=, E-ii
[Option ID = 682]

3. A-iv,B-iii,C-v, D-ii,E-i
[Option ID = 683]

4 A -iii,B-iv,C-i, D-iii,E-v

[Option ID = 684]
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[Question ID = 172][Question Description = 172_19_Bengali_SEPT22_Q72]
1. A-jy, B-i, C-ij, D-iii
[Option ID = 685]

2. A-ii, B-iv, C-ii, D-i
[Option ID = 686]

3. A-ii, B-iii, C-iv, D-i
[Option ID = 687]

4 A-iv, B-ii, C-i, D-iii
[Option ID = 688]
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[Question ID = 173][Question Description = 173_19_Bengali_SEPT22_Q73]
1. & =ii, B-iii,C - iv,D =i
[Option ID = 689]
2. A-ijv,B-1i, C-ii,D-ii
[Option ID = 690]
3. A-ijil, B=ii, C =iv;D =i
[Option ID = 691]
4. A-j B-iii,C-iv,D =i

[Option ID = 692]
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[Question ID = 174][Question Description = 174_19_Bengali_SEPT22_Q74]
1.

2.

3.

Sfferes 1 effEs] 2

A, A4W i qadl g
B. TSy == ii. = e
C. oI #Here iii. g e
D. g9 = iv. ZAEl A
E. S99 o5 V. ﬁﬁﬁi?‘rﬁ'f

oY wiEwE W) ANE Q4 w0 HWE AOas 0 Sweds 26

A-ii, B-iv, C-v, D-i, E-iii

[Option ID = 693]
A-iii, B-v, C-i, D-ii, E-iv

[Option ID = 694]
A-iv, B-i, C-ii, D-iii, E-v




[Option ID = 695]
4. A-y, B-iv, C-i, D-ii, E-iil

[Option ID = 696]
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[Question ID = 175][Question Description = 175_19_Bengali_SEPT22_Q75]
. A-iv, B-1ii,C-i,D-wv, E-ii

[Option ID = 697]
2. A-iv,B-=ii,L-iii,D=-i, E~-iv

[Option ID = 698]
3. A-ii,B-iv,C-iii,D-i,E-Vv

[Option ID = 699]
4. A-vw,B-iv,C -0, D-iiil, E - i

[Option ID = 700]
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[Question ID = 176][Question Description = 176_19_Bengali_SEPT22_Q76]

1. D,A B EC

[Option ID = 701]
2..C, A, D,E B

[Option ID = 702]
3. AJE,B,CD

[Option ID = 703]
4. B,E, A C D

[Option ID = 704]
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[Question ID = 177][Question Description = 177_19_Bengali_SEPT22_Q77]
1. D,B, E A,C

[Option ID = 705]
2. B, C, DA E
[Option ID = 706]
3. ¢C,D,A B E
[Option ID = 707]
4. C,A B ED

[Option ID = 708]
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[Question ID = 178][Question Description = 178_19_Bengali_SEPT22_Q78]
1. D,C,AE B

[Option ID = 709]
2. E,C,B, A, D

[Option ID = 710]
3. 3,A B ED

[Option ID = 711]
4 E, A C B, D

[Option ID = 712]
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[Question ID = 179][Question Description = 179_19_Bengali_SEPT22_Q79]
. D,C B A
[Option ID = 713]

2. (,D,AB

[Option ID = 714]
3. D,B,AC

[Option ID = 715]
4 B, ACD

[Option ID = 716]
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[Question ID = 180][Question Description = 180_19_Bengali_SEPT22_Q80]
. ¢ B,DEA

[Option ID = 717]
2. AB,CED

[Option ID = 718]
3. A/C,B, D, E

[Option ID = 719]
4. B, C,D,AE
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T G99 (14 2 8 GIMALE AEEE B0 |
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2 WarE ¢ Wy 4fare «1%) [ 77 Yrers a0F ¢ WAT AT 77 2200 FOF0! GgAN FaF
ARrS Aifd — FoF FAHT WA CRIE JFET A Ged Flare A, 9die dFe
ATeoF SIS A2 | TSR WALS ATSIT WO¥ WA ©AWd DA WNLF Sied @2y 94, e
Tt T WAL (Y W1 W2 W <o I feare Sl 29 1 S Fiee ©re q@! FeY] wWE
a2 (7 J2w T5 Ala 9 wiadl 9 A, g g B 5o, qal (o W | e weee S w e
GSB oY SR, WG A WH G2 99 e siha Face #fffe ) T8 7o qraa @ ud w13,
CEE A O ©ed G@E WAL 9aE B0a 1 G Qe Ae) WA ARl Aale TwiEad
AT AT A Flare AT q4T A% 271
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A. TR (A< ST FIEE ATS FECY (A (73 Al WHorAta (vaard 44l (7E w1
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C. TSI ALATS ATSIHI0 AGLE A=W F04 (51 I 11 |
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[Question ID = 197][Question Description = 197_19_Bengali_SEPT22_Q97]

1.

2.

3.

(99 C, D d92 E

[Option ID = 785]
(P99 B, C E<9:= D

[Option ID = 786]
(951 A, D "R E

[Option ID = 787]



4.

3)

(P99 A, CHIRE

[Option ID = 788]

5 =B awed (ReTl T | iaael weeiE O3 sues wenEle Sad Sa0s 309

farr T o e ke S Sl T (72 e TiEe quT %fere (53w A, 9N 52 S
(72 FIEETE «FS T &7 TA AW A1 3 — BT WA AT AT S TGAT WA T2
FArs A1 711 #reT FUF GWg TIE @ AGF S-S 4% F0d, A G2 FUF H, oW,
TRAMAYl SAE ARe ATHIS TF A1, (F97 ©RE AR GAGFEa Sl A @l 7
3 — TS FABLT 4T 44T Fiag A TW — TASW WAIeT ST SRA FIAL FIEHHA
B2q| IS 49 FE, O AL 08 229 FAG “MLF (sentence-(F) TR F(aql (T
AT FAEIA (A W2 -SG9 ATCAET HE0 HaHeriTe, wE I@E a4 2w FS
LA SRR (T AT TA (5 o wiew Ge (A ) 4F T FUE TS -G+ P
@ OF0 T SFAWEEF A % 229 AIRIAIT A A0A (T2 TIRET SO0 T20eE
A g =1 Ten a0 | 9fdhe 9% 9 (78 doety 230e FeieEe ey s mw ) o
G0 G99 (14 2 T8 GAWALE A 0 |

R Aelie 9F @ U e A0 | TR @A FeAve, AT WA @ G900 I A0
121 ore @ 9y 4fare wifa ) fHsre 77 iore AnE ¢ @l 7 74 2309 FOF0| GFA PlaFl
wizre Afd — Fo§ Faeed SLAE SRIN SEEEd A Uged F#lare A, adie €
HORF wrT 41| TSR AN ATEE FOF F9 THEq S(ayl TArE ©IeRd A2y I, e
ToTe ST MACS (Y W1 W2 (W <O [ feare Siave 29 1 S [Fiee Sre @@l ee wWE
a2 (7 AW IO AT 9 wad 9 A, % A Bew 5, 49 (o W | S wese At we
Q=0 WY WTE, WA WA WA G2 99 @ @4y Aare A Tg ¥y qag @A 9d 913,
wieE wie 9d ©RE G[EE W4e G9aE F0@ ) Q3G QA Aler Qe GEh Aeite gwEe
AT AT A Flare A4F q47 A% 27

Tos AWilee GRS WG (7 HAF AT LACL, (A6 =

[Question ID = 198][Question Description = 198_19_Bengali_SEPT22_Q98]

1.

2.

3.

[Option ID = 789]
FUF &

[Option ID = 790]

T G

[Option ID = 791]

4. BYE GFTHEEA

[Option ID = 792]



4)

w5 G=6 swlee (maTl T | Taael weeRE 3 shicd SeREe oed a0 304 |

R B Ten ffire aae S 749 o12 SFE Aize s #Tere (58 =4 91, ©4F 42 T
(7% FTeTers «FS 791 829 A AT A1 ST — TN WA HAATH A SEE AT WA 2T
FEACs A1F 71| “orE FUE TV WA @ AGF S[A-AA A% w4, AT (2 F4F =, o,
SAAWAY ORI AT AER T A, (F99 ORI ARmEE qapeaa SEeE e @A (7
3 — ST FUABLF 44T 494F Fagl Tare 2 — Gnie® WHien SN Ol FHAL FHH
239 fEae 999 F1q, OIE AR 00 229 FAE *WMOF (sentence-(F) WEER Faql (FHA
FATGA SEER (TN WREAT SAE (oRl WE wiE e (2E | 40 F94F Aze wE-aF 0 F41
@ o3 o SFYEE AE % 22 AIAEI S qMA (2 GENHET ToF FieE
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o 9 (J14 2 e mEEe AeEs w5

Al A2dre ARH O S WAS A | e @HF AATe, FAEGOAT WA @ GH0 G =R
12 WarE ¢ Wy 4fare #1%) [ 77 Yrers aF ¢ AT T 77 2200 FOF0! GgAN FaF
ARre Aifd — FoF FAHT TAF CRIE JFET A Gged Flare G, 9die dFe
ATeoF SIS A2 | TSR WAS ATSIE WO¥ WA ©AWd DA TNLF Sieid @2yl 94, FE
Tt T WAL (Y W1 IR (I L 0 feare Sl T 1 S [Fiee ©re qw] €Yl W
A% (7 Y4w I5E AT 9 Tl WA A, g Aa e 5, 491 (7 ) S 9eee areE w9
G=6 oY ST, WG A W G2 99 e =iha Facs ol T8 Tor qEn @ ud 713,
TEE A O ©eE GEE WAL 9aE S0 1 G Qe Ay WA Rl Aeale awEad
AT AT A Flare AT 4T 1% 271

¥l o AgT Mo @aw S AR HFe 7 q29 w4l A /1 (@ A, G &=
[Question ID = 199][Question Description = 199_19_Bengali_SEPT22_Q99]
1. e ElLin ﬂqei?rr.q—p' R T

[Option ID = 793]
2. e SrgHEad ware @4 73

[Option ID = 794]
3 feprdt srifh semeweTTe

[Option ID = 795]

4. FYE A FE T

[Option ID = 796]



5)

w5 G=6 swlee (maTl T | Taael weeRE 3 shicd SeREe oed a0 304 |

R B Ten ffire aae S 749 o12 SFE Aize s #Tere (58 =4 91, ©4F 42 T
(7% FTeTers «FS 791 829 A AT A1 ST — TN WA HAATH A SEE AT WA 2T
FEACs A1F 71| “orE FUE TV WA @ AGF S[A-AA A% w4, AT (2 F4F =, o,
SAAWAY ORI AT AER T A, (F99 ORI ARmEE qapeaa SEeE e @A (7
3 — ST FUABLF 44T 494F Fagl Tare 2 — Gnie® WHien SN Ol FHAL FHH
239 fEae 999 F1q, OIE AR 00 229 FAE *WMOF (sentence-(F) WEER Faql (FHA
FATGA SEER (TN WREAT SAE (oRl WE wiE e (2E | 40 F94F Aze wE-aF 0 F41
@ o3 o SFYEE AE % 22 AIAEI S qMA (2 GENHET ToF FieE
@ g ofid feg Fd | 9vfEe a% I (12 deeTe 220e sdielrs &y <bw o S
o 9 (J14 2 e mEEe AeEs w5

Al A2dre ARH O S WAS A | e @HF AATe, FAEGOAT WA @ GH0 G =R
12 WarE ¢ Wy 4fare #1%) [ 77 Yrers aF ¢ AT T 77 2200 FOF0! GgAN FaF
ARre Aifd — FoF FAHT TAF CRIE JFET A Gged Flare G, 9die dFe
ATeoF SIS A2 | TSR WAS ATSIE WO¥ WA ©AWd DA TNLF Sieid @2yl 94, FE
Tt T WAL (Y W1 IR (I L 0 feare Sl T 1 S [Fiee ©re qw] €Yl W
A% (7 Y4w I5E AT 9 Tl WA A, g Aa e 5, 491 (7 ) S 9eee areE w9
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e I WEAHIE AP RS (A (<I] AT, Ol 7+

[Question ID = 200][Question Description = 200_19_Bengali_SEPT22_Q100]

1.

w4l & HLaq Avie

[Option ID = 797]

2. Hre A AT A

3.

[Option ID = 798]

4 FH ST Fesite

[Option ID = 799]

4. BIAA ALF HLAA A2

[Option ID = 800]

Topic:- GP_SET1_SHIFT1_A



) The following table shows the percentage (%) distribution of total population (male and
female) of six towns A — F and percent (%) of femalez among them. Total population of Town
Fis 763000. Based on the data in the table. answer the questions 1-5:

Town-wize Distribution of Population

Town | % Distribution of | % Female
Total Population
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15:4% 53.80%
E T.8% 47,80%
F 21.8% 49 20%

TeTeEe A 3 A — F @E T Fe SEea (T S0 =6 w6 o (%) e S5 5 e w
TAeT (%) ZOE TET £ AW FOF e e 763000 71 Aled S E SHE W W 15 6 I

[ ¥

£ [ 1L

T AW FAEEE 1

T | FE T % = | %
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.50%
E 1.5% 47.80%
¥ 21.8% 49.20%

Number of males in Town A is

T A H gET ey wm A

[Question ID = 211][Question Description = 101_00_General_17_SEPT22_Q01]
1. 350415

[Option ID = 841]
2. 391270

[Option ID = 842]
3. 364285

[Option ID = 843]
4. 380026

[Option ID = 844]

2)  The following table shows the percentage (%) distribution of total population (male and

female) of six towns A — F and percent (%) of females among them. Total population of Town
F iz 763000, Based on the data in the table. answer the questions 1-5:

Town-wize Distribution of Population

Town | % Distribution of | % Female
Total Population
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E T.5% 47.80%
E 21.8% 49.20%




s A 8 A~ F 97 T F Fo 999 (W 90 =) # 9bed (%) S @90 =96 |
iAo (%) ZOmEn TEr £ W F O Fe SEeE 763000 7| A S E WA W U9 1-5 6 I

[l

EA L LUK
TR | F T % = | Y%
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E 7.5% 47.80%
¥ 21.8% 49.20%

Difference between the male and female population of Town B is
T B | T W S F SEe F A e w2
[Question ID = 212][Question Description = 102_00_General_17_SEPT22_Q02]
1. 923784
[Option ID = 845]
2. 23474
[Option ID = 846]
3. 23744
[Option ID = 847]
4. 93447
[Option ID = 848]

3 The following table shows the percentage (%) distribution of total population (male and

female) of six towns A — F and percent (%) of females amonz them. Total population of Town
Fis 763000. Based on the data in the table. answer the questions 1-5:

Town-wize Distribution of Population

Town | % Distribution of | % Female
Total Population
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15:4% 53.80%
E T.bY 47.80%
F 21.8% 49.20%

Fr=TeEs A 3 A — F 92 T A T S99 (T A1 =) a9 (%) S e =g = o
TaeT (%) ZOmE TET £ W F O Fe SEe 763000 7| Aled ° S E WA W W 1=5 6 I

Lol

EA 1 LM
T | F T % EE | %
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E 7.5% 47.80%
F 21.8% 49.20%




The male population of Town F as a percentage of the male population of Town E is
approximately

1 F =1 w9 595 71 E F1 79 S5 & a9 e w2

[Question ID = 213][Question Description = 103_00_General_17_SEPT22_Q03]

1. 206%
[Option ID = 849]
2 225%
[Option ID = 850]
3. 258%
[Option ID = 851]
4. 283%

[Option ID = 852]

4 The following table shows the percentage (%) distribution of total population (male and
female) of a1x towns A — F and percent (%) of females among them. Total population of Town
Fis 763000. Based on the data in the table. answer the questions 1-5:

Town-wize Distribution of Population

Town | % Distribution of | % Female
Total Population
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E T.5% 47.80%
F 21.8% 49.20%

s A ® A~ F 9% T i T 99 (T 90 =) w5 a9 (%) S 60 =96 |
TaeT (%) =emEn TEr £ W F O Fe SEeE 763000 F1 Aerd ° S E WA W U9 15 6 I

[l

i

T | el AT F Yo @ | o A
A 71.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E 1.5% 47.80%
F 21.8% 49.20%

Number of females 1n all the six fowns together 1=

Tt = 7w 9 = S ey g e A Y
[Question ID = 214][Question Description = 104_00_General_17_SEPT22_Q04]
1. 1773240

[Option ID = 853]
2. 1801786

[Option ID = 854]
3. 1940982

[Option ID = 855]



4. 1821744

[Option ID = 856]

5 The following table shows the percentage (%) distribution of total population (male and

female) of six towns A — F and percent (%) of females among them. Total population of Town
Fis 763000. Based on the data in the table. answer the questions 1-5:

Town-wise Distribution of Population

Town | % Distribution of | % Female
Total Population
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15:4% 53.80%
E T.8% 47.80%
FE 21.8% 49.20%

FreAfetEe arerEn # A — F o2 T 1 For ae (99 40 =) # aiwem (%) Eew #6035 m=_
iaeTd (%) =9 T 21 TR F F B S9Eea 763000 7| Al § S F 9N W 9 15 F I

Lol

F_! 3"].:

W | Fel T F Y =@ | %
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E 7.5% 47.80%
F 21.8% 49,20%

Number of males in Towns A-F as a percentage of the population of Towns A-F 1=
approximately
AF 7t 1 e % e % = & AF T A g A e s e 27
[Question ID = 215][Question Description = 105_00_General_17_SEPT22_Q05]
1. 43%
[Option ID = 857]
2. 45%

[Option ID = 858]
3. 49%

[Option ID = 859]
4. 51%

[Option ID = 860]
Topic:- GP_SET1_SHIFT1_B

1) T never teach my pupils: T only attempt to provide the conditions in which they can learn” —
Albert Einstein. The above guote can be best fitted for which of the following models of
teaching-learning?

T AT tnam AtaT % Fofeies aiee § 8 #4 W Aisw 399 350§ 60 s 39gW 20



[Question ID = 216][Question Description = 106_00_General_17_SEPT22_Q06]
1. Learner Centered

Foedt ez

[Option ID = 861]
2. Teacher Centered

T i

[Option ID = 862]
3. Parentz Centered

A0 Fisa

[Option ID = 863]
4. Placement Centered

A Had

[Option ID = 864]

2)  Which of the following is used in offline mode of teaching?
TA=tierigs @ o o e = AihesT wonell 5 T=0 S e 2l

[Question ID = 217][Question Description = 107_00_General_17_SEPT22_Q07]

1. Chalk and board

[Option ID = 865]
2. Video conferencing tools

[Option ID = 866]
3 LMS

T TH TH

[Option ID = 867]
4. Digital resources

ez 9anE

[Option ID = 868]

3)  Which of the following type of courses have been emphasized to be introduced as per NEP:
20207

w3 - 2020 F AR FtEtEs @ 9 FR 3 TR % e T W A o 27

[Question ID = 218][Question Description = 108_00_General_17_SEPT22_Q08]
1. MOOCs

s # = H g (MOOCs)

[Option ID = 869]
2. Value-based courses

[Option ID = 870]



3. Current-affairs courses

T T TEd e
[Option ID = 871]
4. Alility enhancement courses
AT Afg A

[Option ID = 872]

4)  Dyslexia is associated with

Teumtea = 1 4 Teom g=tag 27

[Question ID = 219][Question Description = 109_00_General_17_SEPT22_Q09]

. Writing disorder

[Option ID = 873]
2. Reading text disorder
[Option ID = 874]
3. Interpreting graphics disorder
[Option ID = 875]
4. Mental disorder
TS A

[Option ID = 876]

5) Which of the following are online methods of teachj_ng_?

(A) Using LMS

{B) Using video conferencing tools
(C)  Chalk and Talk

(D) SWAYAM & Swayam Prabha
(E) Field based activity

Choose the correet answer from the options given below :
FeETgs § O %9 o [GiaE AT 91 i = A v
(A) TS UH UH F TEE wAl
(B)  =it=A1 T S9N B A H
(C) =% AR =
(D) = S FEEIT (TH T U TE U U AR UH $55Y U AT UUH 0 HE U A vE )
(E) & AT AR

fon o et # B w9 =0 W =9 R

[Question ID = 220][Question Description = 110_00_General_17_SEPT22_Q10]



1. A Band C Only

#ad A B 3w C
[Option ID = 877]
2. A Band D Only
#aA A B3R D
[Option ID = 878]
3. BandD Only
Fa9 B ¥ D
[Option ID = 879]
4 B.DandE Only
Faa B. D ¥R E

[Option ID = 880]

6)  When we separate soclal phenomena from social actors. it 1s known as

A ¥R WA AT F AW FAA J 90 FAA A S 5 = H A A e
[Question ID = 221][Question Description = 111_00_General_17_SEPT22_Q11]
1. Positivism
R
[Option ID = 881]
2.  Relativism

[Option ID = 882]
3. Bubjectivism

I
L

[Option ID = 883]
4. Ohjectivism

TAFEAT

=

[Option ID = 884]

7) A trend study is usually

T - A W R 6 F -
[Question ID = 222][Question Description = 112_00_General_17_SEPT22_Q12]
1. Action - oriented

T

[Option ID = 885]
2. Impression - oriented

5 ug’

[Option ID = 886]
3. Description - oriented



IEERk Gt
[Option ID = 887]
4. Experiment - oriented

o~

-‘I’-I T ] f]i

u

[Option ID = 888]

8)  Which of the following are the criteria to assess the quality of qualitative research?

(A) Context sensitivity

(B Rigour of analysis

(C) Transparency and coherence
(D) Lengthy description

(E) Liberal use of hypothezes,

Choose the correct answer from the options given helow :
OIS 1 AT & B F A0 HeietE § 8 i H §hES B
(A)  FEd-mEeEieEE
(B)  Taverw 1 wiag
(C)  TWEiTET S ETEa
D) & EEE,

(E)  WiE=E1 i SERATYO S0

oo v fae § § TF 39 w5 9a Fi

[Question ID = 223][Question Description = 113_00_General_17_SEPT22_Q13]
1. A B.C Only

Fas A, B.C
[Option ID = 889]

2. B.C.DOnly
Fa+ B, C. D
[Option ID = 890]

3. C.D.EOnly
Fa+1 C.D. E
[Option ID = 891]

4. A D, EOnly

Fa A D E

[Option ID = 892]



9) Given below are two statenients :

Statement I :  In historical research. external criticism is necessary to establish the

authenticity of data.

Statement II :  Varlous tests of authenticity are there in historical research but there is

no need 1o use them.

In the light of the above statements. choose the correct answer from the options given below

Hre 71 FuE o E
Ty [: UIEENEHE Og H =21 ) U] SAYE F % T S S e 2

w2 11 Ufariiees 0 o STHITERa] % e g aEEE 2, S S I SR R ST e

2

T BUA F AT 0, [ 50 T el 5 O HE I =T i

[Question ID = 224][Question Description = 114_00_General_17_SEPT22_Q14]
1. Both Statemnent I and Statement II ave true

#uq [ 37 1 oH a2
[Option ID = 893]
2. Poth Statement I and Statement II are false
2 I 51 I 51 9593 7

[Option ID = 894]
3. Btatement iz true but Statement II is false

Fu9 1T 2, =i06A 594 I 550 2

[Option ID = 895]

4. Statement I iz false but Statement II is true

TR I e R, A w7

[Option ID = 896]

10)  Nlatch List T with List IT :

LastI Tist I
Research concept Discription

(A) Hybridisation (I}  Shifting from text to inages as
empirical material

(B) Epistemology (ITy TUsed in Chi-Square test

(C) Iconic turn (IIl) Moving away from a specific
methodological affiliation.

(D) Yate's correctian (IV) Theory of knowledge

Choose the corvect answer from the options given below ;



T-17 A1F T G-I e =

-1 LT
(=7 SrEEm) (o)
(A) THF (O S gl EY § WS H s #
(B) = = (D) =FTE—FaF THa § 9% T = 2
(C) FEfEm s (s =) | (D T A& Se-aE aasT 3 52
(D) =T FIW (IV) TH-TagW

= fon 0 e B 1 w5 = = 999 e

[Question ID = 225][Question Description = 115_00_General_17_SEPT22_Q15]

1.

2.

3.

4.

(A)-(Ih. (B)-(1I). (C)-(I11). (D)-(IV)

[Option ID = 897]

(A)-IIT). (B)-(IV). (©)-(T), (DI-(IT)

[Option ID = 898]

(A)(ITy, (B)-(IID). (C)~(I), (D)-(IV)

[Option ID = 899]

(AVAIV), (B)-(I). (O)-(IID). (D)+ID)

[Option ID = 900]

11)

Agenda-setting is a function of

L Y WO =) NP Lo o f-5
A - FIAY (TS A1) FEIenEd w1 T w

[Question ID = 226][Question Description = 116_00_General_17_SEPT22_Q16]

1.

2.

3.

4.

1.

Legal communication

[Option ID = 901]

Corporate communication

'f‘ r 1 a_ :. i _-‘l‘ l

[Option ID = 902]

Political communication

[Option ID = 903]

Grapevine comimunication

EEECio=nl

[Option ID = 904]

12)

A teacher, after communicating with students, should always check for

TF AR W [EENOEl Oy HAE % 99EE 6 AeEnga A w5 e

[Question ID = 227][Question Description = 117_00_General_17_SEPT22_Q17]

Non-reflective student behaviour




Tr-Tameil T = ==En
[Option ID = 905]
2. Fracturved feedback

[Option ID = 906]
3. Agculturation

RIse: o0 e T

[Option ID = 907]
4. Grasp of communicated contents

[Option ID = 908]

13)  Which of the following are parts of body language for effective communication in the
classroom?
(A) Eve contact with students
(B) Reduced spatial distance
() Reduction in personal space of students
(D) Keeping the arms folded
(E) Non-confrontational gestures
Choose the correct answer from the options given below ;

AT TTE WU A A 919 % 3 HEErEa i W A " R 7

(Ay il F =g =vge JO
(B) =R wE

(D) g= S S T

(E)  Te-uimrdl gE-urmEe

120 70 Ta==a1 § H Hal 39 1 =14 hia

[Question ID = 228][Question Description = 118_00_General_17_SEPT22_Q18]
. A B.COnly

Fa9 A B. C

[Option ID = 909]
2. A B.E Only

F37 A B. E

[Option ID = 910]
3. A B, DOnly

FaF A B.D

[Option ID = 911]
4. B,C,D Only

Fa5 B. C, D



[Option ID = 912]

14)  Given below are two statements :

Statement [ : In terms of communication. the mass media are the moest powerful
influenecers in any developing country,

Statement I1 :  Inter-personal communication 12 more powerful than mass media in any
developing society,

In the light of the above statements. chooze the correct answer from the options given below :
49 7 FeE BE A
o O S - e o= M e o= 2 2 o b o ot e = o5 e o s 1 e = e e
FrA I : TRl i Termsie 99Ta 9 30 9T SO S AN q1EEE S04 Hiew THEee 7
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IETF FUH F AR §, 4= 50 T S 5 9 5 I 6 =9 A

[Question ID = 229][Question Description = 119_00_General_17_SEPT22_Q19]
1. Both Statement I and Statement IT ave true

FoA 1o o9 =3 2
[Option ID = 913]
2. Both Statement I and Statement IT are false
Fum 1 3 [ 5H1 w80 2

[Option ID = 914]

3. Statement I is true but Statement II is false

F94 I 54 ‘:“ AT T2 II =94 2
[Option ID = 915]
4. Statement [1s false but Statement I 1= true
Fo I A5 B, A wem a2

[Option ID = 916]

15) Identify the chronological order of effects of newspaper reading on different groups of people.

(A The instrumental effect
(B) The reinforcenient effect
Q) The presiige effect

(D)  The respite effect

(E) The aesthetic effect

Choose the correct answer from the options given below :



(A) HAfoE TaE
(B) #e=H 99E
(Qy  wigE w9=

D) e T
(B)  =imgemsEmE waE

AU LS e e e e e T R e

[Question ID = 230][Question Description = 120_00_General_17_SEPT22_Q20]

1.

2.

3.

4.

1

[

1.

2.

3.

4.

AGEED

[Option ID = 917]
B.C.D,E. A

[Option ID = 918]
C.E.ADE

[Option ID = 919]
EACBD

[Option ID = 920]

6) Find the missing number in the series given as; 4, 7. 11. 19, 32. 54. 7, 149, 245

frefefeEn e § o9 S g =l 4, 7, 11, 16, 32, 54, 7. 149, 245

Question ID = 231][Question Description = 121_00_General_17_SEPT22_Q21]
86
[Option ID = 921]
90
[Option ID = 922]
105

[Option ID = 923]
88

[Option ID = 924]

17) A sum of Rs.1550 is lent out into two parts. one at 8% and the other at 6%. If the total annual

income is R, 106, then find the money lent out at each rate 1.e.. 8% and 6%, respectively.

. 1550 &t 7if%r =1 5PN 9 W WL A 2, TF 9 8% F F W S T 6% T I e TiGF A9 5

106 2 1 TEF 77, WU FHE: 8% I 6% T 70 W A 7S T O =6

[Question ID = 232][Question Description = 122_00_General_17_SEPT22_Q22]

1.

2.

3.

Rs. 650, Rs. 900

=, 650, %5 900
[Option ID = 925]

Rs. 700, Bs. 830
. 700, %.850

[Option ID = 926]
Rs, 900, Rs, 650



=, 900. 7. 650
[Option ID = 927]
4. Rs. 800. Rs. 750
%. B00O.%.760

[Option ID = 928]
18)  Find a single discount equivalent to a series of discounts 10%, 20% and 30%

#mfiEs H 10%, 20% 317 30% =51 & GHaed ThA 951 7 Fi|

[Question ID = 233][Question Description = 123_00_General_17_SEPT22_Q23]
1. EBpae
all,2%

[Option ID = 929]
2. 50.4%

[Option ID = 930]
3. 40.6%

[Option ID = 931]
4. 51.0%

[Option ID = 932]

19)  The ratio of the present ages of two persons A and B iz 4:3. If 4 years ago. the ratio of their
ages was 2:1, what 1= the present age of A and B (in vears) respectively?

T =T A 3 B i 900H o 5T 443 71 A 4 99 04, S S W SETE 261 o, 71 A s B
+1 A9 =g (791 5) 7= 2 Y
[Question ID = 234][Question Description = 124_00_General_17_SEPT22_Q24]

. 8.6

[Option ID = 933]
2. O.F

[Option ID = 934]
312, 9

[Option ID = 935]
4912

[Option ID = 936]
20)  Find the average of squares of consecutive even numbers from 1 to 207
L & 20 o F FATE A9 BEAIAT = 0 B A gaT wEd
[Question ID = 235][Question Description = 125_00_General_17_SEPT22_Q25]
1. 154

[Option ID = 937]
2. 151

[Option ID = 938]
3. 155

[Option ID = 939]



4. 153

[Option ID = 940]

21)  Which of the following propositions iz obverse and lozically equivalent to the proposition
‘No umpires are partisans’?

TefeEn # @ FidE wiann autenan TanE 1 Aiead 2 3R Aaiee w9 3 356 #@eaed 2- #E 6
T 9aTE T 2 2
[Question ID = 236][Question Description = 126_00_General_17_SEPT22_Q26]
1. Nonon-umpires are non-partisans,
w57k o et e 7 F 2

[Option ID = 941]
2. Al non-partisans are umpires,

Tt Tr—gETr] Hom 3

[Option ID = 942]
3. Somie umplres are non-partisans.

T U F-uEmT 7

[Option ID = 943]
4. All umpires ave non-partisans.

Tt fAvn i T A
[Option ID = 944]
22) @Given below are two statements :

Statement [ :  Conversion 1s an inference that proceeds by interchanging the subject
and predicate terms of the proposition.

Statement IT : A7l conversions are valid inferences

In the light of the above statements. choose the correct answer from the options given below :

4 =7 S 5

Fo 1 A=A TF WAEE 7, A A F e W 59T F 96 6 siesee F0d 5 SEE 26 2

#od I : ey Aqitaas 39 w99 76 21

s e e o e = ot = P 1 B L = e == 7 1 e e 2 e o e 1

[Question ID = 237][Question Description = 127_00_General_17_SEPT22_Q27]
1. Both Statement I and Statement IT are true

[Option ID = 945]
2.  PBoth Statement T and Statement IT are false

[Option ID = 946]



3. Btatement I is true but Statement II is false

#9491 979 &, = %93 11 95 2
[Option ID = 947]
4.  Statement Iis falee but Statement IT 1= true
F7 | woed 2, =i 59 11 907 2
[Option ID = 948]

23)  \Which logical informal fallaey 1s commitied in the following statement- “The Beatles were the
best rock group of the 1960s since they =old more vecords than any other rock band™.

TeferEa w9 FAE SEAETE GE-Tm T 2 - Udieen 1960 F T B WEihE O 49 41
w1 3 freres e i a5 17 as f e | st o)

[Question ID = 238][Question Description = 128_00_General_17_SEPT22_Q28]
1. Appeal to Majority

A F AR

[Option ID = 949]
2. Thversion
SFE
[Option ID = 950]
3. Begeing the Question
HAeRIEA
[Option ID = 951]
4. Egquivocation
_qqm' '_‘_

[Option ID = 952]

24)  TWhich of the following statements are true regarding logie?

(A) Avistotelian svllogism 1= deductive,
{B)y  Nyava syvllogizm 1s deductive.

(C) Anstotelian syllogizm is formal.
(D) Nyaya svllogizm 1is formal.

(E) Nyaya syllogism 1s inductive.

Choose the correct answer fiom the options given below :



TA=iteiEn 9 4 1 4 U e E 4T H TR R Y
(&) 3 F AT WA A

(B) ATl = A AT 2

(C) R F1 =9 A9 AT 2

(D) AR S -AE AR 7

(E) =11 #1 -7 ATHATTE B

fou v faFeat © 9 T = e e

[Question ID = 239][Question Description = 129_00_General_17_SEPT22_Q29]
. A B C.DOnly

w9 A, B. C.D

[Option ID = 953]
2. ABCDE

ABCDE

[Option ID = 954]
3. A CandE Only

FaTA. O 3R E
[Option ID = 955]
4 A B. CandE Only
Fa9A. B. C. 3 E
[Option ID = 956]
25)  Which of the following 1s true regarding Upamana as a means of knowledge according to
Nyaya school?

(A) It 1= knowledge derived from comparison.,
(B) It roughly corresponds to analogy.
{C) It 1= defined as knowledge of the relation hetween a word and its denetation.

(D) It 1= & kand of anumana (inference),
Choose the correct answer from the options given below :
B IR IR B 2 (o o e e 1 = e B B e e e e = B e e A e ot

(A)  TE T H T I A
(B) T® U AR W ATEEAW T 5 AT 2
(C)  z8 7/ 37 3 atagd (f592em) & o= 999 & 74 % =9 8 grais e o A

(D) 7% UF TEA I FEE 2

feu 7 faed] § & 981 39 5 994 Fiau

[Question ID = 240][Question Description = 130_00_General_17_SEPT22_Q30]
. A B CandD

ABC#HID

[Option ID = 957]



2. A andB Only

Fa9 A 57 B
[Option ID = 958]
3. A Band C Only

FAAA BHR C

[Option ID = 959]
4 A BandD Only

FaAA BT D

[Option ID = 960]

26) \What is e-Taal?
ST T BT

[Question ID = 241][Question Description = 131_00_General_17_SEPT22_Q31]

1. A Web portal for dissemination of bank transaction statizstics of Panchavat level e-
Governance projects.

THTE T ] -0 GRATAAIS W A GoEEEn Sedl A TEE B 46 1

[Option ID = 961]
A mobile app for dissemination of information on fund allocation for National and
state level e-Governance projects.

YT T TS T 3-9ET TATSE] = G e gedl geE F TET 7y q1ese oy

[Option ID = 962]
3. A Web portal for dissemination of e-Transaction statisticz of National and State level
e-Governance Projects.

T W T TE 3-IE IR Fi 5 -HeIEEn Fier % TAT 5 79 e

[Option ID = 963]

4. A web-based Software for composing a music.

[Option ID = 964]

27) Which of the following statements are correct regarding Centre for Development of Advanced

Computing (C-DAC) of India?
{A) The setting up of C-DAC was to build Supercomputers in context of denial of import of
Supercomputers by USA,

(B) C-DAC started building Indian Language Computing Solutions with setting up of
GIST group (Graphics and Intelligence based Script Technology)

(C)  This Centre was started in the vear 1995

Choose the correct answer from the options given below ;



WA F I FA T Fe (H1-5%) % A9y 9 FeleiEd @ | A 9 w59 56 e

(&) F-=F i T T T A G T FEE F A ¥ 30 FH F A J R
THI = R T T A

(B) Hi-=F A S @ vy A (arEm 9w g9t snaiE S oEneR) @9 W e O OSEAE A4
e A ST AT T

(C) =8 %= F 99 1005 § 304 =1 7= =1

20 70 Ta=edl B O 98 39 5 99 e

[Question ID = 242][Question Description = 132_00_General_17_SEPT22_Q32]
1. Aand B Only

FaE A B
[Option ID = 965]

2. Band C Only
Fa= B & C

[Option ID = 966]
3. Aand C Only

FaFAHNC

[Option ID = 967]
4 A BandC

AB#HTC

[Option ID = 968]

28) Which of the following iz a way to quickly mccess a favourite website by =aving it in your
browser?

wA T | 9E FE A G 7, T A0 W ¥ G0 S AT T JaEEE o e O 9hd

£ oy

1y

-
o

=

5

[Question ID = 243][Question Description = 133_00_General_17_SEPT22_Q33]

1. Cookie
[Option ID = 969]
2. Bookmark

T o (9 O

[Option ID = 970]
3. Blog

AT

[Option ID = 971]
4. Wik

EET]

[Option ID = 972]



29)  Which of the following can be considered as illegal or unethical in the context of information

technology?

{A) A hospital reveals chinical historv of a patient without the consent of a patient.

(B) A student using proprietary software without having license.
(C) A person stealing another person’s credit card number.
(D) A college using Linux operating system (being an open-source software) on all its 200

computers on the campus,
Choose the correct answer from the options given helow :

AT WP F AR T AT 8 ° e S 997 4T T 9w 2

(A) I A T mEAl F E Ia e e T A A

(B) =15 Tamnedf fam =eam om w=nfue whewn 9 Aiveas = T = E|

(C) =t =k Tl 37 =3hF =+ wiez WS W A 7 A

(D) T TEEETEE T § = 200 FE W Al T Tl (T 5 =W a5

3
=l = |

oo 7 e § | TR 39 W = i

[Question ID = 244][Question Description = 134_00_General_17_SEPT22_Q34]
1. Aand B Only

FTAAFTE

[Option ID = 973]
2. Band C Only

Faa B AT C
[Option ID = 974]
3. A Band C Only

FaFA B3 C

[Option ID = 975]
4. CandD Only

Fa= C a7 D

[Option ID = 976]

30) Given below are two statements :

Statement I : A bloek-chain 1= a growing list of records, called blocks. which are Iinked
using Cryptography.

Statement 1T :  Block—chains which ave readable by the public ave widely used by ervpto
curriencies.

In the light of the above statenients. choose the correct ansiwer from the options given helow :



=t =1 Fo o A
B i)

Fod Il HEARE =9 3 T3AE 00 241 0 BT g1l 56 9% 94 TP A A

BT Tl T e 2 = | o] LA 2 e M = i e L T D e 11 = L

[Question ID = 245][Question Description = 135_00_General_17_SEPT22_Q35]
1. Both Statement I and Statement I are true
o I Hn o 54 7

[Option ID = 977]
2. Both Statement I and Statement IT ave false

e T on IL 5T w80 =
[Option ID = 978]
3. Btatement Iis true but Statement IT 1= false
o LA 7, =0 527 I 58
[Option ID = 979]
4. SBtatement I1s false but Statement IT i= true
9 | 500 2, S F94 Taea
[Option ID = 980]
31)  Which one of the following isotopes of Uranium is used as fissile material in nuclear thermal
power plants?
o & Fm sty (smenter) 1 it 5 4 = e v fah w6 5
E ik
[Question ID = 246][Question Description = 136_00_General_17_SEPT22_Q36]
T Tlaas

[Option ID = 981]
2. e
[Option ID = 982]
3. Uoss

[Option ID = 983]
4. Tasg

[Option ID = 984]

32) Which one among the following rotors iz mostly used in wind turbines for electricity
generation?

TaA FeheA F 10 99 e § (Heteigy § 3 50 T2t #1 AP F9E0T e A w7
[Question ID = 247][Question Description = 137_00_General_17_SEPT22_Q37]
- AMultiblade rotor

[Option ID = 985]
2. Propeller rotor



[Option ID = 986]
3. S&TDDJ..OU.S Totor
S T

[Option ID = 987]
4. Darrieus rotor

[Option ID = 988]

33)  What is the correct chronological order of the following from older to newer?

(A) Paris agreement

(B) Convention on biodiversity
(C) Kyoto Protocol

(D) Montreal Protocol

(E) Stockholm Conferenice

Choose the correct answer from the options ziven helow :

Frefelas =1 o @ 90 5% %1 A7 Fews = 27
(&)  diE T

(B) Fa-ffEws o satEea
(Q) T W

(D) wifZam TR

(E)  *=Em aeer

PR e e e o B i D P 11

[Question ID = 248][Question Description = 138_00_General_17_SEPT22_Q38]
. B, DCEA

[Option ID = 989]
2. B.C.D.EA

[Option ID = 990]
3. E.D,.C.B.A

[Option ID = 991]
4 E.D.B.C. A

[Option ID = 992]

34)  Given below are two statements :

Statement I : Total absence of fluoride in dr]'_nking water causes dental caries.
Statement IT :  With presence of fluoride in drinking water, all the dental problems can
he avoided.

In the hght of the ahove statements. choose the most appropriate answer from the options
given helow :



=1 e fem o E

FoH L:  UASE  FEATES F O AT & e Sa -, we A
we I1: 9= § ToWTes 1 9oty = gt sq-auenet o a6 7 T A
ST T F OAEE A, 99 50 T @ § 6 T S I 99 A

[Question ID = 249][Question Description = 139_00_General_17_SEPT22_Q39]
1. Both Statement [ and Statement IT are correct

A I o I =F1 971 2

[Option ID = 993]
2. Both Statement I and Statement II ave incorrect

w13 1L aF 7794 =

[Option ID = 994]
3. Statement I1is correct but Statement IT is incorreet

FoT IH5 2, ol Fa 7o 7

[Option ID = 995]

4. Statement I is incorrect but Statement II is correct
o 1 e 7, Wi e 08 2

[Option ID = 996]

35) According to Indian National Ambient Al Quality standards an Aw Quality Index (AQI)
value of 200 indicates the quality of air as

W g 99l 9T TS B OSTEE U 90 e g (LA, ) 200 F 0 T w5
T Fr i O S S 2

[Question ID = 250][Question Description = 140_00_General_17_SEPT22_Q40]

1. Very poor

[Option ID = 997]
2. Moderate

e (AEE)

[Option ID = 998]
3. Paor

TG

[Option ID = 999]
4. 8atisfactory

[Option ID = 1000]
36) Delhi University. Delhi was established in the vear:

[Question ID = 251][Question Description = 141_00_General_17_SEPT22_Q41]



1. 1914

[Option ID = 1001]

2. 1922
[Option ID = 1002]
3. 1947

[Option ID = 1003]
4. 1054

[Option ID = 1004]
37) Who was the ¢hairperson of the committee appointed in 1963 by the National Council for

women education to look into the causes for the lack of public support for givl's education and
to enlist public support?

Trfelas 9 | Mg Al e 9ims geT 1963 H g Rl TS 3W AW w1 9sAd wiA ad, T
F T F= T @t

[Question ID = 252][Question Description = 142_00_General_17_SEPT22_Q42]
1. Hansa Mehta

[Option ID = 1005]
2. Durgabal Deshmulkh

[Option ID = 1006]
3. Margaret cousins

[Option ID = 1007]
4. Bhaktavatsalam

FhaTHTH

[Option ID = 1008]

38) Given below are two statements :

Statement I : As a result of the recommendation of the Woods despatch’ modern
University education in India began in 1857. When the universities of
Calcutta. Bombay and Madras were founded by the British.

Statement IT ¢ The Banaras Hindua University. Varanasi was established in the vear
1927,

In the light of the above statements. choose the mest appropriate answer from the options

given below :

-

B e B o T e g

w 1. ‘g feeda’ F seemne F oty wEY 1857 § 96 B agiEE HrataeeE me e

FoIl: A Trs g F T 9T 1927 7 55

SUTE HUT o AR H, A9 50 0 el § 8 He U 39 S I



[Question ID = 253][Question Description = 143_00_General_17_SEPT22_Q43]

1.

Both Statement [ and Statement IT are correct

w1 # = 94 2

[Option ID = 1009]

Both Statement I and Statement 1T are incorrect

e I o7 I =F1 =4 2

[Option ID = 1010]

Statement I 1s correct but Statement I is Incorrect

Fue LH71 2, =i F9a e

[Option ID = 1011]

Statement I is incorrect but Statement 1T i1s correct

F97 [ 97 7, =0T FoT 1577 7

[Option ID = 1012]

39)

Match Tast T wath List IT:

List I List II
(Commissions) (Chairperson)
(A) University Education Commision 1948 | (I) Dz Sam Pitroda
(B} Secondary Education commission 1952 | (II) D, Sarvepalli Radhakrishnan
(C) Education Commission 1964 (IIT) Dwr. D.S. Kothari
(D) National Enowledge Cominussion 2005 | (IV) Dr. Lakshmanaswanu Mudahar

Choose the correct answer fronl the options given below :

-1 = = g1-11 e i

-1 =111
(A) favat=amem G s, 1948 | (D 31 @9 e
(B) HIEER e i, 1952 D =1. T T
(C) foren s, 1964 (1) =1. S0\, F=r
(D) TEE TH AE, 2005 V) =1, FEEvEEE gaeE

= Tou T el 8 H HE IR = FIA0

[Question ID = 254][Question Description = 144_00_General_17_SEPT22_Q44]

1.

2.

3.

4.

{(A)-(D. (By-{ID), (C) IV, (D)«(IID

[Option ID = 1013]

(A)-(IT), (B)-(IV), (C)-(III}, (IN-(I)

[Option ID = 1014]

(A)-(IV). (B)-(III). (C)-(Ty. (DH-(ID)

[Option ID = 1015]

(A)-(IIT). (B)-(T). (C)-(IT). (D)-(IV)

[Option ID = 1016]




40) (iaven below are two statements :
Btatement I : ‘Pandit Madan Alohan Malaviva National Alssion of Teachers and
Teaching’ aims at promoting 2ocially relevant research in Science.

Statement IT 1 'Scheme for Promotion of Academic and Research Collaboration’ aims at
teacher training and faculty development.

In the light of the above statements. chooze the correct answer from the options given below :

fag s e mE;
wA 1:  “Torerwl 3 e % Tew ut=g 9ed 9T g T8E e # Serd EeE B @9 H OmEieE
=T { TIIF FEEAIE O A 2

FoA I1: SRS 0 S9-aH HeA0 UG B9 ] A ThE BE UHEA AT AESEE U e

FEENTA | W T - TE 36 A= 2

THEIF FEE F AT H, 49 120 70 {9Fe 7 | 09 39 9 999 i

[Question ID = 255][Question Description = 145_00_General_17_SEPT22_Q45]
1. Both Statement I and Statement II are true
Foe [ o7 I =1 549 7

[Option ID = 1017]
2. Both Statement I and Statement IT are false

o I an [ g w90 7

[Option ID = 1018]
3. Statement Iis true but Statement IT is false

o 1o 2, 9fa 99 I s/aea 2

[Option ID = 1019]
4. Statement I is false but Statement II is true

w1 50 2, S HYE Lo 2

[Option ID = 1020]

Topic:- GP_SET1_SHIFT1_C



1.

1)

Read the passage and answer guestions from 46 to 50

The Sapru Committee report was published in 1945, It was an Indian attempt to propose a
constitutional scheme to accommodate different domestic political interests. It too made the
case for umniversal suffrage. The Sapru committee claimed that even though political
circumstances had changed, for example. the party structure had evolved. substantial
changes In such matters could occcur only affer full responsible government had been
introduced. it said. In keeping with this rationale, if reiterated the idea that the very exercise
of franchise would provide the education necessary to enable a responsible politics. The
support for universal franchize could also be seen In proclamations by major political actors.
Nationalist leaders viewed restrictions on the franchise as colonical attempts to curb growing
disaffection. Mohandas Gandhi. who retwrned from South Africa in 1915 and swiftly became
the face of India’'s entire effort at emancipation. beldly declared in 1939 that he was
unworried by illiteracy. He said he would plump for an unadulteirated franchise for both men
and women. The contitbution of B.R. Ambedkar, who took up the cause of lower sections of
the =zociety during the anti-colomial struggle was signmificant in this regard. His focus on the
1ssue of social divisions made him sensitive to restrictions on the right to vate. Qualifications
based on education and property during colonial rule meant the defacto exclusion of lower

sections of the society,

e TN Fi UiET 4R WU TEn 46-50 F I Ana-

7 At F1 foe 1945 7 wRE = A TR A& W TeEien B 6 wEEre F 6 0w St
e A R 9REA 90 STeE! TR 9 AR 2 7 B 2| T S8 qRgR 9 97 9 e
VIR U1 o e i e B IR e o B B2 o1 e 0 2 1 e e v Bt | 7| R 122 i s o =
HANEERT T Oiasal W wgd HEA W FEI0 Sk AHEAETE TEE 6 =9 9 96 SEEE Td) 1915 |
Sl SRR | FI2 9 S TniEE A0 CAEA o A90 TAW R AWl 8 =e0 54 T 4] 3we 1939 1
AR Z H =G i F A e F e aiod T4 2 3EE FE T 9E T s e ae o+ fe
Sl HETERT R HEIE =4 H GrEl FA0| 56 a0 § SUHGREE -l 5ud 6 SnE 5eE B e a3 w
96 AEER W NEEG] F WA A9eEie 84| ANEEEe e SR 98 AR SR W AT
SEATHT FT HU TS F S @ ) AEAEE "Ee A

The Sapru Committee favoured nniversal suffraze to accommodate

(i

7] A FEE AAEAT #  60 SEEEE SATaER w5 SO e 17

[Question ID = 256][Question Description = 146_00_General_17_SEPT22_Q46]
Educated elass

[Option ID = 1021]

2. Prapertied class

[Option ID = 1022]

3. Evolution of political parties

[Option ID = 1023]

4. Various political interests

[Option ID = 1024]



2)

Read the passage and answer questions from 46 to 50

The Sapru Committee report was published in 1945, It was an Indian attempt to propose a
constitutional scheme to accommodate different domestic political interests. It too made the
case for universal suffrage. The Sapru committee claimed that even though political
circumstances had changed, for example. the party structure had evolved. substantial
changes In such matters could occur only affer full responsible government had been
introduced. it said. In keeping with this rationale, if veiterated the idea that the verv exercise
of franchise would provide the education necessary to enable a responsible politics, The
support for universal franchize could alse be seen In proclamations by major political actors,
Nationalist leaders viewed restrictions on the franchise as colonical attempts to curb growing
disaffection. Mohandas Gandhi. who retwined from Scouth Africa in 1915 and swiftly became
the face of India's entire effort at emancipation. boldly declared in 1939 that he was
unworried by illiteracy. He said he would plump for an unadulterated franchise for both men
and women. The contribution of B.R. Ambedkar, who took up the cause of lower sections of
the =ociety during the anti-colonial struggle was signifieant in this regard. His focus on the
1ssue of social divisions made him sensitive to restrictions on the right to vate., Qualifications
based on education and property during colonial rule meant the defacto exclusion of lower
sections of the society.

et wreror =1 afen 31 W= TN 46-50 I Ata-
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According to the Sapru Committee, universal franchise 1tself was education that would lead to
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1.

2.

3.

4.

Emergence of national leaders

[Option ID = 1025]
Eesponsible polities

[Option ID = 1026]
Substantial political freedom

[Option ID = 1027]

The rejection of colonial attempts.

ST SO S

[Option ID = 1028]



1.

3)

Read the passage and answer questions from 46 to 50

The Sapru Committee report was published in 1945, It was an Indian attempt to propose a
constitutional scheme to accommodate different domestic political interests. It too made the
case for umversal suffrage. The Sapru commitiee claimed that even though political
circumstances had changed, for example. the party structure had evolved. substantial
changes in such matters could occur only affer full responsible government had been
introduced. it said. In keeping with this rationale, if reiterated the idea that the very exercise
of franchise would provide the education necessary to enable a responsible politics, The
support for universal franchize could also be seen In proclamations by major political actors,
Nationalist leaders viewed restrictions on the franchise as colonical attempts to curb growing
disaffection. Mohandas Gandhi. who retwrned from South Africa in 1915 and swiftly became
the face of India’'s entire effort at emancipation. beldly declared in 1939 that he was
unworried by illiteracy. He said he would plump for an unadulterated franchise for both men
and women. The contibution of B.R. Ambedkar, who took up the cause of lower sections of
the society during the anti-colomial struggle was significant in this regard. His focus on the
1szue of social divizsions made him sensitive to resirictions on the right to vote. Qualifications
based on education and property during colonial rule meant the defacto exclusion of lower

sections of the society.
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The opposition to urnversal franchise in India was considered as a colomal effort to
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Suppress the demand for fresdom

[Option ID = 1029]

2. Deny gender parity in voting.

HACH § S0 -SHE § TR F
[Option ID = 1030]

Divide the society on the basis of elitism.
ST F ATEE O TTS S e

[Option ID = 1031]

4. Demean the role of political parties.

[Option ID = 1032]



4)

Read the passage and answer questions from 46 to 50

The Sapru Committee report was published in 1945, It was an Indian attempt to propose a
constitutional scheme to accommodate different domestic political mnterests. It too made the
case for universal suffrage. The Sapru committee claimed that even though political
circumstances had changed, for example. the party structure had evolved. substantial
changes in such matters could occur only affer full responsible government had been
introduced. it said. In keeping with this rationale, if veiterated the idea that the verv exercise
of franchise would provide the educatien necessary to enahble a responsible politics, The
support for universal franchise could also be seen In proclamations by major political actors,
Nationalist leaders viewed restrictions on the franchise as colonical attempts to curb growing
disaffection. Mohandas Gandhi. who retwined from Scouth Africa in 1915 and swiftly became
the face of India's entire effort at emancipation. boldly declared in 1939 that he was
unworried by illiteracy. He said he would plump for an unadulterated franchise for hoth men
and women. The contribution of B.R. Ambedkar, who took up the cause of lower sections of
the =ociety during the anti-colonial struggle was signifieant in this regard. His focus on the
1ssue of social divisions made him sensitive to resirictions on the right to vote. Qualifications
based on education and property during colonial rule meant the defacto exclusion of lower
sections of the society.
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Mohandas Gandhi supperted universal right to vote. iznoring
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1.

2.

3.

The importance of economic status.

[Option ID = 1033]
The benefits of divisionary politics.
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[Option ID = 1034]
The 1ssue of 1lliteracy

[Option ID = 1035]
The growing disaffection in the society,
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5)

Read the passage and answer questions from 46 to 50

The Sapru Committee report was published in 1945, It was an Indian attempt to propose a
constitutional scheme to accommodate different domestic political interests. It too made the
case for umversal suffrage. The Sapru commitiee claimed that even though political
circumstances had changed, for example. the party structure had evolved. substantial
changes in such matters could occur only affer full responsible government had been
introduced. it said. In keeping with this rationale, if reiterated the idea that the very exercise
of franchise would provide the education necessary to enable a responsible politics, The
support for universal franchize could also be seen In proclamations by major political actors,
Nationalist leaders viewed restrictions on the franchise as colonical attempts to curb growing
disaffection. Mohandas Gandhi. who retwrned from South Africa in 1915 and swiftly became
the face of India’'s entire effort at emancipation. beldly declared in 1939 that he was
unworried by illiteracy. He said he would plump for an unadulterated franchise for both men
and women. The contibution of B.R. Ambedkar, who took up the cause of lower sections of
the society during the anti-colomial struggle was significant in this regard. His focus on the
1szue of social divizsions made him sensitive to resirictions on the right to vote. Qualifications
based on education and property during colonial rule meant the defacto exclusion of lower

sections of the society.
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The passage highlights
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1.

2.

3.

4.

The role of political actors in India.
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[Option ID = 1037]
The demerits of universal suffrage

[Option ID = 1038]
B. B. Ambedkar's effort for emancipation of lower sections of society.
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[Option ID = 1039]
The political evelution in India.
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